PGT Psychology

Q 1). Who among the following has become the world’s youngest and fastest female para
swimmer to swim solo across the English Channel Successfully recently?

(A) Shivani Kataria

(B) Dolly Nazir

(C) Devanshi Satija

(D) Jiya Rai

Correct Answer: (D)

Q 2). Recently, an Indian-origin lecturer named Prasanthi Ram at Nanyang Technological
University has won Singapore Literature Prize for English fiction for her short story
named

(A) Nine Yard Sarees

(B) House of Cards

(C) Dollar Bahu

(D) The Very Expensive Coconut

Correct Answer: (A)

Q 3). Recently, WHO has declared Dhulikhel Municipality as the second healthiest city in
Asia. This Dhulikhel Municipality is in which of the following countries?

(A) India

(B) Bhutan

(C) Nepal

(D) Myanmar

Correct Answer: (C)

Q 4). If a teacher first explains the rule and then gives examples. Which type learning style is
this?

(A)Inductive

(B) Deductive

(C) Indo-Deductive

(D) Ilustration

Correct Answer: (B)

Q 5). In which stage, children are able to think about things in terms of consistent physical

features?

(A) Sensory Motor

(B) Concrete Operational

(C) Pre-Operational

(D) Formal Operational

Correct Answer: (C)
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Q 6). Which of the following is not the main feature of RTE Act?

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood
school.

(B) Completion of Elementary Education even after fourteen years of age.

(C) Private Tuitions by teachers is not prohibited.

(D) No child is denied admission due to lack of age certificate.

Correct Answer: (C)

Q 7). By what, any event or a condition in an experiment is called?

(A) Variable

(B) Cause

(C) Effect

(D) Change

Correct Answer: (A)

Q 8). First Psychology laboratory established by

(A) William James

(B) Wilhelm Wundt

(C) Abraham Maslow

(D) John B. Watson

Correct Answer: (B)

Q 9). In which type of learning, the animal will get food only if it responds?

(A) Operant Conditioning

(B) Classical Conditioning

(C) Insight Learning

(D) Observational Learning

Correct Answer: (A)

Q 10). Which statement is not true in the case of human nervous system?

(A) Sensory nerves carry signals to brain from sense organs.

(B) Muscles nerves carry signals to muscles from brain.

(C) The cranial nerves are set of 12 paired nerves.

(D) The spinal nerves are set of 37 paired nerves.

Correct Answer: (D)
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Q I1). When a researcher wants to study the behavior of children on the playground, what
method will he use?

(A) Controlled Observation

(B) Naturalistic Observation

(C) Survey

(D) Interview

Correct Answer: (B)

Q 12). What are the three humoural element or ‘tridosha’ according to Charak Sambhita?

(A) Sattva, Rajas and Tamas

(B) Vata, Pitta and Kapha

(C) Bhrahma, Vishnu and Mahesha

(D) Agni, Jal and Akasha

Correct Answer: (B)

Q 13). Suman is an average student, doesn’t get good grades but comes out with new ideas in
her project work. This is an example of

(A) Average intelligence

(B) Moderate intelligence

(C) Creativity

(D) Social skill

Correct Answer: (C)

Q 14). Which is the most stressful event according to Singh, Kaur and Kaur’s Presumptive
Stressful Life Event Scale?

(A) Unexpected accident or trauma

(B) Break-up with friend

(C) Appearing for examination

(D) Changing in sleeping habit

Correct Answer: (A)
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Q 15). Match the following theories (Given in List-I) with their Descriptions (Given in List-

IT) and choose the correct option.

LIST-I (Theory)

LIST-I1 (Description)

(a) James-Lange Theory (1) Triggering the feeling of pleasure and pain simultaneously.

(b) Cannon-Bard Theory (2) Emotional experience comprises of the physiological

arousal and its cognitive labelling.

(c) Opponent Process (3) Emotion arising stimulus simultaneously triggers
Theory physiological responses and the subjective experience of
emotion.
(d) Two-Factor Theory (4) Emotional Experience refers to our awareness of our

physiological responses to emotion arousing stimuli.

(A) ()-(4), (b)-(3), (c)-(2), (d)-(1)
(B) (a)- (4), (b)-(2), (c)-(3) (d)-(1)
(©) (@)- (3), (b)-(2), (c)-(4) (d)-(1)
(D) (a)- 3), (b)-(4), (¢)-(1) (d)-(2)
Correct Answer: (D)

Q 16). How a person can improve his/her listening skill?

(A) Adopting early judgment before listening

(B) Becoming an impatient listener

(C) Visualise what is being said

(D) Not using paraphrase if in doubt

Correct Answer: (C)

Q 17). In the game of “Tug of war”, it’s not possible to identify who exerted how much force.

This phenomenon is known by what name?

(A) Social loafing
(B) Social facilitation
(C) Group efforts

(D) Group dynamics
Correct Answer: (A)

Q 18). What does it mean by ‘Critical Thinking’?
(A) Thinking that get blind acceptance

(B) Thinking that avoid blind acceptance

(C) Imagination
(D) Negative thinking

Correct Answer: (B)
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Q19). is a problem-solving strategy in which an individual or group collects all
possible ideas and evaluates them only after all ideas have been collected.

(A) Storming

(B) Norming

(C) Groupthink

(D) Brainstorming

Correct Answer: (D)

Q 20). Identify the theory by diagram and choose correct option given below.

o0 00
(A) Rubin’s Vase
(B) Symmetry
(C) Proximity
(D) Similarity
Correct Answer: (C)

Page 50of 5



